

Non-linear new product A*B – B*A derivations on *-algebras

A. Taghavi¹ orcid.org/0000-0001-6230-733X M. Razeghi²

University of Mazandaran, Dept. of Mathematics, Faculty of Mathematical Sciences, Babolsar, Iran.

Received: June 2019 | Accepted: July 2019

Abstract:

Let \mathcal{A} be a prime *-algebra with unit I and a nontrivial projection. Then the map $\Phi : \mathcal{A} \to \mathcal{A}$ satisfies in the following condition

$$\Phi(A\diamond B)=\Phi(A)\diamond B+A\diamond\Phi(B)$$

where $A \diamond B = A^*B - B^*A$ for all $A, B \in A$, is additive. Moreover, if $\Phi(\alpha I)$ is self-adjoint operator for $\alpha \in \{1, i\}$ then Φ is a *-derivation.

Keywords: New product derivation: Prime *-algebra; Additive map.

MSC (2010): 46J10, 47B48, 46L10.

Cite this article as (IEEE citation style):

A. Taghavi and M. Razeghi, "Non-linear new product A*B – B*A derivations on *-algebras", Proyecciones (Antofagasta, On line), vol. 39, no. 2, pp. 467-479, Apr. 2020, doi: 10.22199/issn.0717-6279-2020-02-0029.



Article copyright: © 2020 A. Taghavi and M. Razeghi. This is an open access article distributed under the terms of the Creative Commons Licence, which permits unrestricted use and distribution provided the original author and source are credited.



1. Introduction

Let \mathcal{R} be a *-algebra. For $A, B \in \mathcal{R}$, denoted by $A \bullet B = AB + BA^*$ and $[A, B]_* = AB - BA^*$, which are *-Jordan product and *-Lie product, respectively. These products are found playing a more and more important role in some research topics, and its study has recently attracted many author's attention (for example, see [3, 9, 11, 15]).

Recall that a map $\Phi : \mathcal{R} \to \mathcal{R}$ is said to be an additive derivation if

$$\Phi(A+B) = \Phi(A) + \Phi(B)$$

and

$$\Phi(AB) = \Phi(A)B + A\Phi(B)$$

for all $A, B \in \mathcal{R}$. A map Φ is additive *-derivation if it is an additive derivation and $\Phi(A^*) = \Phi(A)^*$. Derivations are very important maps both in theory and applications, and have been studied intensively ([2, 12, 13, 14]).

Let us define λ -Jordan *-product by $A \bullet_{\lambda} B = AB + \lambda BA^*$. We say that the map Φ with the property of $\Phi(A \bullet_{\lambda} B) = \Phi(A) \bullet_{\lambda} B + A \bullet_{\lambda} \Phi(B)$ is a λ -Jordan *-derivation map. It is clear that for $\lambda = -1$ and $\lambda = 1$, the λ -Jordan *-derivation map is a *-Lie derivation and *-Jordan derivation, respectively [1].

A von Neumann algebra \mathcal{A} is a self-adjoint subalgebra of some B(H), the algebra of bounded linear operators acting on a complex Hilbert space, which satisfies the double commutant property: $\mathcal{A}'' = \mathcal{A}$ where $\mathcal{A}' = \{T \in B(H), TA = AT, \forall A \in \mathcal{A}\}$ and $\mathcal{A}'' = \{\mathcal{A}'\}'$. Denote by $\mathcal{Z}(\mathcal{A}) = \mathcal{A}' \cap \mathcal{A}$ the center of \mathcal{A} . A von Neumann algebra \mathcal{A} is called a factor if its center is trivial, that is, $\mathcal{Z}(\mathcal{A}) = \mathbb{C}I$. For $A \in \mathcal{A}$, recall that the central carrier of A, denoted by \overline{A} , is the smallest central projection P such that PA = A. It is not difficult to see that \overline{A} is the projection onto the closed subspace spanned by $\{BAx : B \in \mathcal{A}, x \in H\}$. If A is self-adjoint, then the core of A, denoted by \underline{A} , is $\sup\{S \in \mathcal{Z}(\mathcal{A}) : S = S^*, S \leq A\}$. If A = P is a projection, it is clear that \underline{P} is the largest central projection Q satisfying $Q \leq P$. A projection P is said to be core-free if $\underline{P} = 0$ (see [10]). It is easy to see that $\underline{P} = 0$ if and only if $\overline{I - P} = I$, [6, 7].

Recently, Yu and Zhang in [17] proved that every non-linear *-Lie derivation from a factor von Neumann algebra into itself is an additive *-derivation. Also, Li, Lu and Fang in [8] have investigated a non-linear λ -Jordan *-derivation. They showed that if $\mathcal{A} \subseteq \mathcal{B}(\mathcal{H})$ is a von Neumann algebra without central abelian projections and λ is a non-zero scalar, then

468

 $\Phi : \mathcal{A} \longrightarrow \mathcal{B}(\mathcal{H})$ is a non-linear λ -Jordan *-derivation if and only if Φ is an additive *-derivation.

On the other hand, many mathematician devoted themselves to study the *-Jordan product $A \bullet B = AB + BA^*$. In [18], F. Zhang proved that every non-linear *-Jordan derivation map $\Phi : \mathcal{A} \to \mathcal{A}$ on a factor von neumann algebra with $I_{\mathcal{A}}$ the identity of it is an additive *-derivation.

In [16], we showed that *-Jordan derivation map on every factor von Neumann algebra $\mathcal{A} \subseteq \mathcal{B}(\mathcal{H})$ is additive *-derivation.

Very recently the authors of [5] discussed some bijective maps preserving the new product A^*B+B^*A between von Neumann algebras with no central abelian projections. In other words, Φ holds in the following condition

$$\Phi(A^*B + B^*A) = \Phi(A)^*\Phi(B) + \Phi(B)^*\Phi(A).$$

They showed that such a map is sum of a linear *-isomorphism and a conjugate linear *-isomorphism.

Motivated by the above results, in this paper, we prove that if \mathcal{A} is a prime *-algebra then $\Phi : \mathcal{A} \to \mathcal{A}$ which holds in the following condition

$$\Phi(A \diamond B) = \Phi(A) \diamond B + A \diamond \Phi(B)$$

where $A \diamond B = A^*B - B^*A$ for all $A, B \in \mathcal{A}$, is additive *-derivation.

We say that \mathcal{A} is prime, that is, for $A, B \in \mathcal{A}$ if $A\mathcal{A}B = \{0\}$, then A = 0 or B = 0. For example, every simple or prime generally primitive C^* -algebras are prime (e.g., $\mathcal{B}(\mathcal{H}), \mathcal{K}(\mathcal{H})$ for every Hilbert space) [4].

2. Main Results

Our main theorem is as follows:

Theorem 2.1. Let \mathcal{A} be a prime *-algebra with unit I and a nontrivial projection. Then the map $\Phi : \mathcal{A} \to \mathcal{A}$ satisfies in the following condition

(2.1)
$$\Phi(A \diamond B) = \Phi(A) \diamond B + A \diamond \Phi(B)$$

where $A \diamond B = A^*B - B^*A$ for all $A, B \in \mathcal{A}$. is additive.

Proof. Let P_1 be a nontrivial projection in \mathcal{A} and $P_2 = I_{\mathcal{A}} - P_1$. Denote $\mathcal{A}_{ij} = P_i \mathcal{A} P_j$, i, j = 1, 2, then $\mathcal{A} = \sum_{i,j=1}^2 \mathcal{A}_{ij}$. For every $A \in \mathcal{A}$ we may write $A = A_{11} + A_{12} + A_{21} + A_{22}$. In all that follow, when we write A_{ij} , it indicates that $A_{ij} \in \mathcal{A}_{ij}$. For showing additivity of Φ on \mathcal{A} , we use

above partition of \mathcal{A} and give some claims that prove Φ is additive on each $\mathcal{A}_{ij}, i, j = 1, 2$.

We prove the above theorem by several claims.

Claim 1. $\Phi(0) = 0$.

This claim is easy to prove.

Claim 2. $\Phi(iA) = i\Phi(A) + A^*K$, where, $K = \Phi(iI) - i\Phi(I)$.

 $\operatorname{Consider}$

$$\Phi(-iA\diamond I) = \Phi(A\diamond iI).$$

So, we have

(2.2)
$$\Phi(-iA)^* - \Phi(-iA) + iA^*\Phi(I) + i\Phi(I)^*A = i\Phi(A)^* + i\Phi(A) + A^*\Phi(iI) - \Phi(iI)^*A.$$

Consider

$$\Phi(-iA\diamond iI) = \Phi(I\diamond A)$$

So, we have

$${}_{1}\Phi(-iA)^{*} + i\Phi(-iA) + iA^{*}\Phi(iI) + i\Phi(iI)^{*}A = \Phi(I)^{*}A - A^{*}\Phi(I) + \Phi(A) - \Phi(A)^{*}.$$

Equivalently, we obtain

$$-\Phi(-iA)^* - \Phi(-iA) - A^*\Phi(iI) - \Phi(iI)^*A = i\Phi(I)^*A - iA^*\Phi(I)$$
(2.3) $+i\Phi(A) - i\Phi(A)^*.$

By adding equations (2.2) and (2.3) we have

$$-\Phi(-iA) - i\Phi(A) = -iA^*\Phi(I) + A^*\Phi(iI).$$

Substituting iA instead of A in the above equation implies

$$\Phi(iA) = i\Phi(A) + A^*(\Phi(iI) - i\Phi(I))$$

that

$$K = \Phi(iI) - i\Phi(I).$$

 So

$$\Phi(iA) = i\Phi(A) + A^*K$$

Claim 3. $\Phi(-A) = -\Phi(A)$

By considering $\Phi(iA) = i\Phi(A) + A^*K$ and applying iA instead of A we have

(2.4)

$$\begin{aligned}
\Phi(-A) &= i\Phi(iA) - iA^*K \\
\Phi(-A) &= i(i\Phi(A) + A^*K) - iA^*K \\
\Phi(-A) &= -\Phi(A) + iA^*K - iA^*K \\
\Phi(-A) &= -\Phi(A).
\end{aligned}$$

Claim 4. For each $A_{11} \in \mathcal{A}_{11}$, $A_{12} \in \mathcal{A}_{12}$ we have

$$\Phi(A_{11} + A_{12}) = \Phi(A_{11}) + \Phi(A_{12}).$$

Let $T = \Phi(A_{11} + A_{12}) - \Phi(A_{11}) - \Phi(A_{12})$, we should prove that T = 0. For $X_{21} \in \mathcal{A}_{21}$ we can write that

$$\Phi(A_{11} + A_{12}) \diamond X_{21} + (A_{11} + A_{12}) \diamond \Phi(X_{21}) = \Phi((A_{11} + A_{12}) \diamond X_{21})$$

= $\Phi(A_{11} \diamond X_{21}) + \Phi(A_{12} \diamond X_{21}) = \Phi(A_{11}) \diamond X_{21} + A_{11} \diamond \Phi(X_{21})$
+ $\Phi(A_{12}) \diamond X_{21} + A_{12} \diamond \Phi(X_{21})$
= $(\Phi(A_{11}) + \Phi(A_{12})) \diamond X_{21} + (A_{11} + A_{12}) \diamond \Phi(X_{21}).$

So, we obtain

$$T\diamond X_{21}=0.$$

Since $T = T_{11} + T_{12} + T_{21} + T_{22}$ we have

$$T_{21}^*X_{21} + T_{22}^*X_{21} - X_{21}^*T_{21} - X_{21}^*T_{22} = 0.$$

From the above equation and primeness of \mathcal{A} we have $T_{22} = 0$ and

$$(2.5) T_{21}^* X_{21} - X_{21}^* T_{21} = 0.$$

On the other hand, similarly by applying iX_{21} instead of X_{21} in above, we obtain

$$iT_{21}^*X_{21} + iT_{22}^*X_{21} + iX_{21}^*T_{21} + iX_{21}^*T_{22} = 0.$$

Since $T_{22} = 0$ we obtain from the above equation that

(2.6)
$$-T_{21}^*X_{21} - X_{21}^*T_{21} = 0.$$

From (2.5) and (2.6) we have

$$X_{21}^*T_{21} = 0.$$

Since \mathcal{A} is prime, then we get $T_{21} = 0$.

It suffices to show that $T_{12} = T_{11} = 0$. For this purpose for $X_{12} \in \mathcal{A}_{12}$ we write

$$\begin{split} \Phi(((A_{11} + A_{12}) \diamond X_{12}) \diamond P_1) &= \Phi((A_{11} + A_{12}) \diamond X_{12}) \diamond P_1 + ((A_{11} + A_{12}) \diamond X_{12}) \diamond \Phi(P_1) \\ &= (\Phi(A_{11} + A_{12}) \diamond X_{12} + (A_{11} + A_{12}) \diamond \Phi(X_{12})) \diamond P_1 + (A_{11} + A_{12}) \diamond X_{12} \diamond \Phi(P_1) \\ &= \Phi(A_{11} + A_{12}) \diamond X_{12} \diamond P_1 + A_{11} \diamond \Phi(X_{12}) \diamond P_1 + A_{12} \diamond \Phi(X_{12}) \diamond P_1 \\ &+ A_{11} \diamond X_{12} \diamond \Phi(P_1) + A_{12} \diamond X_{12} \diamond \Phi(P_1). \end{split}$$

So, we showed that

$$\Phi(((A_{11} + A_{12}) \diamond X_{12}) \diamond P_1) = \Phi(A_{11} + A_{12}) \diamond X_{12} \diamond P_1 + A_{11} \diamond \Phi(X_{12}) \diamond P_1 + A_{12} \diamond \Phi(X_{12}) \diamond P_1 + A_{11} \diamond X_{12} \diamond \Phi(P_1) + A_{12} \diamond X_{12} \diamond \Phi(P_1).$$
(2.7)

Since $A_{12} \diamond X_{12} \diamond P_1 = 0$ we have

$$\begin{split} &\Phi(((A_{11} + A_{12}) \diamond X_{12}) \diamond P_1) = \Phi((A_{11} \diamond X_{12}) \diamond P_1) + \Phi((A_{12} \diamond X_{12}) \diamond P_1) \\ &= \Phi(A_{11} \diamond X_{12}) \diamond P_1 + (A_{11} \diamond X_{12}) \diamond \Phi(P_1) + \Phi(A_{12} \diamond X_{12}) \diamond P_1 + (A_{12} \diamond X_{12}) \diamond \Phi(P_1) \\ &= (\Phi(A_{11}) \diamond X_{12} + A_{11} \diamond \Phi(X_{12})) \diamond P_1 + (A_{11} \diamond X_{12}) \diamond \Phi(P_1) \\ &+ (\Phi(A_{12}) \diamond X_{12} + A_{12} \diamond \Phi(X_{12})) \diamond P_1 + (A_{12} \diamond X_{12}) \diamond \Phi(P_1) \\ &= \Phi(A_{11}) \diamond X_{12} \diamond P_1 + A_{11} \diamond \Phi(X_{12}) \diamond P_1 + A_{11} \diamond X_{12} \diamond \Phi(P_1) \\ &+ \Phi(A_{12}) \diamond X_{12} \diamond P_1 + A_{11} \diamond \Phi(X_{12}) \diamond P_1 + A_{11} \diamond X_{12} \diamond \Phi(P_1) \end{split}$$

So,

$$\Phi(((A_{11} + A_{12}) \diamond X_{12}) \diamond P_1) = \Phi(A_{11}) \diamond X_{12} \diamond P_1 + A_{11} \diamond \Phi(X_{12}) \diamond P_1 + A_{11} \diamond X_{12} \diamond \Phi(P_1) + \Phi(A_{12}) \diamond X_{12} \diamond P_1$$

$$(2.8) + A_{12} \diamond \Phi(X_{12}) \diamond P_1 + A_{12} \diamond X_{12} \diamond \Phi(P_1).$$

From (2) and (2.7) we have

$$\Phi(A_{11} + A_{12}) \diamond X_{12} \diamond P_1 = \Phi(A_{11}) \diamond X_{12} \diamond P_1 + \Phi(A_{12}) \diamond X_{12} \diamond P_1.$$

It follows that $T \diamond X_{12} \diamond P_1 = 0$, so $T_{11}^* X_{12} - X_{12}^* T_{11} = 0$. We have $T_{11}^* X_{12} = 0$ or $T_{11}XP_2 = 0$ for all $X \in \mathcal{A}$, then we have $T_{11} = 0$. Similarly, we can show that $T_{12} = 0$ by applying P_2 instead of P_1 in above.

Claim 5. For each $A_{11} \in \mathcal{A}_{11}, A_{12} \in \mathcal{A}_{12}, A_{21} \in \mathcal{A}_{21}$ and $A_{22} \in \mathcal{A}_{22}$ we have

1.

$$\Phi(A_{11} + A_{12} + A_{21}) = \Phi(A_{11}) + \Phi(A_{12}) + \Phi(A_{21}).$$

2.

$$\Phi(A_{12} + A_{21} + A_{22}) = \Phi(A_{12}) + \Phi(A_{21}) + \Phi(A_{22})$$

We show that

$$T = \Phi(A_{11} + A_{12} + A_{21}) - \Phi(A_{11}) - \Phi(A_{12}) - \Phi(A_{21}) = 0.$$

So, we have

$$\Phi(A_{11} + A_{12} + A_{21}) \diamond X_{21} + (A_{11} + A_{12} + A_{21}) \diamond \Phi(X_{21})$$

= $\Phi((A_{11} + A_{12} + A_{21}) \diamond X_{21}) = \Phi(A_{11} \diamond X_{21}) + \Phi(A_{12} \diamond X_{21}) + \Phi(A_{21} \diamond X_{21})$
= $(\Phi(A_{11}) + \Phi(A_{12}) + \Phi(A_{21})) \diamond X_{21} + (A_{11} + A_{12} + A_{21}) \diamond \Phi(X_{21}).$

It follows that $T \diamond X_{21} = 0$. Since $T = T_{11} + T_{12} + T_{21} + T_{22}$ we have

$$T_{22}^*X_{21} + T_{21}^*X_{21} - X_{21}^*T_{22} - C_{21}^*T_{21} = 0.$$

Therefore, $T_{22} = T_{21} = 0$. From Claim 4, we obtain

$$\Phi(A_{11} + A_{12} + A_{21}) \diamond X_{12} + (A_{11} + A_{12} + A_{21}) \diamond \Phi(X_{12})$$

= $\Phi((A_{11} + A_{12} + A_{21}) \diamond X_{12}) = \Phi((A_{11} + A_{12}) \diamond X_{12}) + \Phi(A_{21} \diamond X_{12})$
= $\Phi(A_{11} \diamond X_{12}) + \Phi(A_{12} \diamond X_{12}) + \Phi(A_{21} \diamond X_{12})$
= $(\Phi(A_{11}) + \Phi(A_{12}) + \Phi(A_{21})) \diamond X_{12} + (A_{11} + A_{12} + A_{21}) \diamond \Phi(X_{12}).$

Hence,

$$T_{11}^*X_{12} + T_{12}^*X_{12} - X_{12}^*T_{11} - X_{12}^*T_{12} = 0.$$

Then $T_{11} = T_{12} = 0$. Similarly

$$\Phi(A_{12} + A_{21} + A_{22}) = \Phi(A_{12}) + \Phi(A_{21}) + \Phi(A_{22}).$$

Claim 6. For each $A_{11} \in \mathcal{A}_{11}, A_{12} \in \mathcal{A}_{12}, A_{21} \in \mathcal{A}_{21}$ and $A_{22} \in \mathcal{A}_{22}$ we have

$$\Phi(A_{11} + A_{12} + A_{21} + A_{22}) = \Phi(A_{11}) + \Phi(A_{12}) + \Phi(A_{21}) + \Phi(A_{22}).$$

We show that

$$T = \Phi(A_{11} + A_{12} + A_{21} + A_{22}) - \Phi(A_{11}) - \Phi(A_{12}) - \Phi(A_{21}) - \Phi(A_{22}) = 0.$$

From Claim 5, we have

$$\begin{split} &\Phi(A_{11} + A_{12} + A_{21} + A_{22}) \diamond X_{12} + (A_{11} + A_{12} + A_{21} + A_{22}) \diamond \Phi(X_{12}) \\ &= \Phi((A_{11} + A_{12} + A_{21} + A_{22}) \diamond X_{12}) \\ &= \Phi((A_{11} + A_{12} + A_{21}) \diamond X_{12}) + \Phi(A_{22} \diamond X_{12}) \\ &= \Phi(A_{11} \diamond X_{12}) + \Phi(A_{12} \diamond X_{12}) + \Phi(A_{21} \diamond X_{12}) + \Phi(A_{22} \diamond X_{12}) \\ &= (\Phi(A_{11}) + \Phi(A_{12}) + \Phi(A_{21}) + \Phi(A_{22})) \diamond X_{12} \\ &+ (A_{11} + A_{12} + A_{21} + A_{22}) \diamond \Phi(X_{12}). \end{split}$$

So, $T \diamond X_{12} = 0$. It follows that

$$T_{11}^*X_{12} + T_{12}^*X_{12} - X_{12}^*T_{11} - X_{12}^*T_{12} = 0.$$

Then $T_{11} = T_{12} = 0$.

Similarly, by applying X_{21} instead of X_{12} in above, we obtain $T_{21} = T_{22} = 0$.

Claim 7. For each $A_{ij}, B_{ij} \in \mathcal{A}_{ij}$ such that $i \neq j$, we have

$$\Phi(A_{ij} + B_{ij}) = \Phi(A_{ij}) + \Phi(B_{ij}).$$

It is easy to show that

$$(P_i + A_{ij})(P_j + B_{ij}) - (P_j + B_{ij}^*)(P_i + A_{ij}^*) = A_{ij} + B_{ij} - A_{ij}^* - B_{ij}^*.$$

So, we can write

$$\begin{split} \Phi(A_{ij} + B_{ij}) + \Phi(-A_{ij}^* - B_{ij}^*) &= \Phi((P_i + A_{ij}^*) \diamond (P_j + B_{ij})) \\ &= \Phi(P_i + A_{ij}^*) \diamond (P_j + B_{ij}) + (P_i + A_{ij}^*) \diamond \Phi(P_j + B_{ij}) \\ &= (\Phi(P_i) + \Phi(A_{ij}^*)) \diamond (P_j + B_{ij}) + (P_i + A_{ij}^*) \diamond (\Phi(P_j) + \Phi(B_{ij})) \\ &= \Phi(P_i) \diamond B_{ij} + P_i \diamond \Phi(B_{ij}) + \Phi(A_{ij}^*) \diamond P_j + A_{ij}^* \diamond \Phi(P_j) \\ &= \Phi(P_i \diamond B_{ij}) + \Phi(A_{ij}^* \diamond P_j) \\ &= \Phi(B_{ij}) + \Phi(-B_{ij}^*) + \Phi(A_{ij}) + \Phi(-A_{ij}^*). \end{split}$$

Therefore, we show that

$$(2.9)\Phi(A_{ij} + B_{ij}) + \Phi(-A_{ij}^* - B_{ij}^*) = \Phi(A_{ij}) + \Phi(B_{ij}) + \Phi(-A_{ij}^*) + \Phi(-B_{ij}^*)$$

By an easy computation, we can write

$$(P_i + A_{ij})(iP_j + iB_{ij}) - (-iP_j - iB_{ij}^*)(P_i + A_{ij}^*) = iA_{ij} + iB_{ij} + iA_{ij}^* + iB_{ij}^*.$$

Then we have

Then, we have

$$\begin{split} \Phi(iA_{ij} + iB_{ij}) + \Phi(iA_{ij}^* + iB_{ij}^*) &= \Phi((P_i + A_{ij}^*) \diamond (iP_j + iB_{ij})) \\ &= \Phi(P_i + A_{ij}^*) \diamond (iP_j + iB_{ij}) + (P_i + A_{ij}^*) \diamond \Phi(iP_j + iB_{ij}) \\ &= (\Phi(P_i) + \Phi(A_{ij}^*)) \diamond (iP_j + iB_{ij}) + (P_i + A_{ij}^*)(\Phi(iP_j) + \Phi(iB_{ij})) \\ &= \Phi(P_i) \diamond iB_{ij} + P_i \diamond \Phi(iB_{ij}) + \Phi(A_{ij}^*) \diamond iP_j + A_{ij}^* \diamond \Phi(iP_j) \\ &= \Phi(P_i \diamond iB_{ij}) + \Phi(A_{ij}^* \diamond iP_j) \\ &= \Phi(iB_{ij}) + \Phi(iB_{ij}^*) + \Phi(iA_{ij}) + \Phi(iA_{ij}^*). \end{split}$$

We showed that

$$\Phi(iA_{ij} + iB_{ij}) + \Phi(iA_{ij}^* + iB_{ij}^*) = \Phi(iB_{ij}) + \Phi(iB_{ij}^*) + \Phi(iA_{ij}) + \Phi(iA_{ij}^*).$$

From Claims 2, 3 and the above equation, we have

$$(2.10) \Phi(A_{ij} + B_{ij}) - \Phi(-A_{ij}^* - B_{ij}^*) = \Phi(B_{ij}) - \Phi(-B_{ij}^*) + \Phi(A_{ij}) - \Phi(-A_{ij}^*)$$

By adding equations (2.8) and (2.0) we obtain

By adding equations (2.8) and (2.9), we obtain

$$\Phi(A_{ij} + B_{ij}) = \Phi(A_{ij}) + \Phi(B_{ij}).$$

Claim 8. For each $A_{ii}, B_{ii} \in A_{ii}$ such that $1 \le i \le 2$, we have

$$\Phi(A_{ii} + B_{ii}) = \Phi(A_{ii}) + \Phi(B_{ii}).$$

We show that

$$T = \Phi(A_{ii} + B_{ii}) - \Phi(A_{ii}) - \Phi(B_{ii}) = 0.$$

We can write

$$\Phi(A_{ii} + B_{ii}) \diamond P_j + (A_{ii} + B_{ii}) \diamond \Phi(P_j) = \Phi((A_{ii} + B_{ii}) \diamond P_j)$$

= $\Phi(A_{ii} \diamond P_j) + \Phi(B_{ii} \diamond P_j)$
 $\Phi(A_{ii}) \diamond P_j + A_{ii} \diamond \Phi(P_j) + \Phi(B_{ii}) \diamond P_j + B_{ii} \diamond \Phi(P_j)$
= $(\Phi(A_{ii}) + \Phi(B_{ii})) \diamond P_j + (A_{ii} + B_{ii}) \diamond \Phi(P_j).$

So, we have

$$T \diamond P_i = 0.$$

Therefore, we obtain $T_{ij} = T_{ji} = T_{jj} = 0$. On the other hand, for every $X_{ij} \in \mathcal{A}_{ij}$, we have

$$\Phi(A_{ii} + B_{ii}) \diamond X_{ij} + (A_{ii} + B_{ii}) \diamond \Phi(X_{ij}) = \Phi((A_{ii} + B_{ii}) \diamond X_{ij})$$

= $\Phi(A_{ii} \diamond X_{ij}) + \Phi(B_{ii} \diamond X_{ij}) = \Phi(A_{ii}) \diamond X_{ij} + A_{ii} \diamond \Phi(X_{ij})$
+ $\Phi(B_{ii}) \diamond X_{ij} + B_{ii} \diamond \Phi(X_{ij})$
= $(\Phi(A_{ii}) + \Phi(B_{ii})) \diamond X_{ij} + (A_{ii} + B_{ii}) \diamond \Phi(X_{ij}).$

So,

$$(\Phi(A_{ii}+B_{ii})-\Phi(A_{ii})-\Phi(B_{ii}))\diamond X_{ij}=0.$$

It follows that $T \diamond X_{ij} = 0$ or $T_{ii}X_{ij} = 0$. By knowing that \mathcal{A} is prime, we have $T_{ii} = 0$.

Hence, the additivity of Φ comes from the above claims.

In the rest of this paper we show that Φ is *-derivation.

Theorem 2.2. With notation of the previous theorem, if $\Phi(\alpha I)$ is selfadjoint operator for $\alpha \in \{1, i\}$ then Φ is *-derivation.

Proof. We present the proof of the above theorem by several claims.

Claim 9. $\Phi(iI) = \Phi(I) = 0.$

Consider $\Phi(I \diamond iI) = \Phi(I) \diamond iI + I \diamond \Phi(iI)$ that imply

(2.11)
$$2\Phi(iI) = i\Phi(I)^* + i\Phi(I) + \Phi(iI) - \Phi(iI)^* = i\Phi(I)$$

By taking the adjoint of above equation we have $\Phi(iI) = \Phi(I) = 0$

Claim 10. Φ preserves star.

Since $\Phi(I) = 0$ then we can write

$$\Phi\left(I\diamond A\right)=I\diamond\Phi(A).$$

Then

$$\Phi(A - A^*) = \Phi(A) - \Phi(A)^*.$$

So, we showed that Φ preserves star.

Claim 11. We prove that Φ is derivation.

For every $A, B \in \mathcal{A}$ we have

$$\Phi(AB - B^*A^*) = \Phi(A^* \diamond B)$$

= $\Phi(A^*) \diamond B + A^* \diamond \Phi(B)$
= $\Phi(A^*)^*B - \Phi(B)^*A^* - B^*\Phi(A^*) + A\Phi(B).$

On the other hand, since Φ preserves star, we have

(2.12)
$$\Phi(AB - B^*A^*) = \Phi(A)B + A\Phi(B) - B^*\Phi(A^*) - \Phi(B)^*A^*.$$

So, from (2.11), we have

$$\Phi(i(AB + B^*A^*)) = \Phi(A(iB) - (iB)^*A^*)$$

= $\Phi(A)(iB) + A\Phi(iB) - (iB)^*\Phi(A^*) - \Phi(iB)^*A^*$

Therefore, from claims 2 and 9 we have

(2.13)
$$\Phi(AB + B^*A^*) = \Phi(A)B + A\Phi(B) + B^*\Phi(A^*) + \Phi(B^*)A^*.$$

By adding equations (2.11) and (2.12), we have

$$\Phi(AB) = \Phi(A)B + A\Phi(B).$$

This completes the proof.

Acknowledgments: The authors would like to thank anonymous referee for a thorough and detailed report with many helpful comments and suggestions.

References

- [1] Z. Bai and S. Du, "The structure of nonlinear lie derivation on von Neumann algebras", *Linear algebra and its applications*, vol. 436, no. 7, pp. 2701–2708, Apr. 2012., doi: 10.1016/j.laa.2011.11.009.
- [2] E. Christensen, "Derivations of nest algebras", *Mathematische annalen*, vol. 229, no. 2, pp. 155–161, Jun. 1977, doi: 10.1007/BF01351601.

- [3] J. Cui and C.-K. Li, "Maps preserving product XY-YX* on factor von Neumann algebras", *Linear algebra and its applications*, vol. 431, no. 5-7, pp. 833–842, 2009, doi: 10.1016/j.laa.2009.03.036.
- [4] J. Dixmier, *C*-algebras*, vol. 15. Amsterdam: North-Holland Publ. Co., 1977. [On line]. Available: https://bit.ly/2SenaED
- [5] C. Li, F. Zhao, and Q. Chen, "Nonlinear maps preserving product X*Y + Y *X on von Neumann algebras", *Bulletin of the iranian mathematical society*, vol. 44, no. 3, pp. 729–738, Jun. 2018, doi: 10.1007/s41980-018-0048-3.
- [6] R. V. Kadison and J. R. Ringrose, Fundamentals of the theory of operator algebras, vol. 1. New York: Academic Press, 1983. [On line]. Available: https://bit.ly/3f0Wm4J
- [7] R. V. Kadison and R. Ringrose, *Fundamentals of the theory of operator algebras*, vol. 2, New York: Academic Press, 1986. [On line]. Available: https://bit.ly/3aLf0dz
- [8] C. Li, F. Lu, and X. Fang, "Non-linear ξ-Jordan *-derivations on von Neumann algebras", *Linear and multilinear algebra*, vol. 62, no. 4, pp. 466-473, Apr. 2013, doi: 10.1080/03081087.2013.780603.
- [9] C. Li, F. Lu, and X. Fang, "Nonlinear mappings preserving product XY + YX* on factor von Neumann algebras", *Linear algebra and its applications*, vol. 438, no. 5, pp. 2339–2345, Mar. 2013, doi: 10.1016/j.laa.2012.10.015.
- [10] C. R. Miers, "Lie homomorphisms of operator algebras", *Pacific journal of mathematics*. vol. 38, no. 3, pp. 717—735, 1971. [On line]. Available: https://bit.ly/3bPIg43
- [11] L. Molnár, "A condition for a subspace of B(H) to be an ideal", *Linear algebra and its applications*, vol. 235, pp. 229–234, Mar. 1996. doi: 10.1016/0024-3795(94)00143-X.
- [12] S. Sakai, "Derivations of W* -Algebras", *The annals of mathematics*, vol. 83, no. 2, pp. 273–279, Mar. 1966, doi: 10.2307/1970432.
- [13] P. Šemrl, "Additive derivations of some operator algebra", *Illinois journal of mathematics*, vol. 35, no. 2, pp. 234–240, Jun. 1991, doi: 10.1215/ijm/1255987893.
- [14] P. Šemrl, "Ring derivations on standard operator algebras", *Journal of functional analysis*, vol. 112, no. 2, pp. 318–324, Mar. 1993, doi: 10.1006/jfan.1993.1035.
- [15] A. Taghavi, V. Darvish, and H. Rohi, "Additivity of maps preserving products AP ±P A* on C*-algebras", *Mathematica slovaca*, vol. 67, no. 1, pp. 213-220, Feb. 2017, doi: 10.1515/ms-2016-0260.

- [16] A. Taghavi, H. Rohi, and V. Darvish, "Non-linear *-Jordan derivations on von Neumann algebras", *Linear and multilinear algebra*, vol. 64, no. 3, pp. 426–439, May 2015, doi: 10.1080/03081087.2015.1043855.
- [17] W. Yu and J. Zhang, "Nonlinear *-lie derivations on factor von Neumann algebras", *Linear algebra and its applications*, vol. 437, no. 8, pp. 1979-1991, Oct. 2012, doi: 10.1016/j.laa.2012.05.032.
- [18] F. Zhang, "Nonlinear skew Jordan derivable maps on factor von Neumann algebras", *Linear and multilinear algebra*, vol. 64, no. 10, pp. 2090–2103, Jan. 2016, doi: 10.1080/03081087.2016.1139035.